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Oswietlenie
komunikacja

tqczniki przyciskowe

Oswietlenie dyzurne

Sterowanie z TSO;
Osw. dyzurne 2

Oswietlenie pom.
2/02,2/03

Oswietlenie pom.
2/04

Oswietlenie pom.
2/05,2/06

Oswietlenie pom.
2/07

Oswietlenie pom.
2/08

Oswietlenie pom.
2/19-2/21

Oswietlenie pom.
2/23-2/25

Oswietlenie pom.
2/26

Oswietlenie pom.
2/27

Oswietlenie awaryjne

Rezerwa

Rezerwa

Rezerwa

Gniazda 230V
korytarz

Gniazda 230V pom.
2/02

Gniazda 230V pom.
2/03

Gniazda 230V pom.
2/04

Gniazda 230V pom.
2/04

Gniazda 230V pom.
2/05,2/06

Gniazda 230V pom.
2/07

Gniazda 230V pom.
2/07

Gniazda 230V pom.
2/08

Gniazda 230V pom.
2/19,2/20

Gniazda 230V pom.
2/21

Gniazda 230V pom.
2/22

Gniazda 230V pom.
2/23-2/27

Rolety

Rezerwa

Wypust 230V
suszarka 2/26

Wypust 230V
suszarka 2/27

Wypust 230V pisuar
2/27

z TSO

Sterowanie z TSO; Osw.

komunikacja 2
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